

## SOME GENERATING FUNCTIONS FOR THE JACOBI POLYNOMIALS

H. M. SRIVASTAVA

Department of Mathematics and Statistics, University of Victoria  
Victoria, British Columbia V8W 3P4, Canada

R. K. SAXENA

Department of Mathematics and Statistics, University of Jodhpur  
Jodhpur-342001, Rajasthan, India

Z. HUSSAIN

Department of Mathematics, University of Tripoli, Tripoli, Libya

(Received October 1990)

**Abstract**—A certain family of generating functions for the classical Jacobi polynomials, given earlier by R.K. Saxena and Z. Hussain [1], are observed here to be derivable directly from some known (and readily available) results in the literature. An interesting generalization of the aforementioned generating functions emerges naturally in the process. Some relevant connections of these results with various known generating functions are also pointed out.

### 1. INTRODUCTION AND PRELIMINARIES

For the classical Jacobi polynomials (cf., e.g., Szegő [2, p. 62])

$$P_n^{(\alpha, \beta)}(x) = \frac{(\alpha + 1)_n}{n!} {}_2F_1 \left[ -n, \alpha + \beta + n + 1; \alpha + 1; \frac{1}{2}(1 - x) \right], \quad (1.1)$$

where  $(\lambda)_n = \Gamma(\lambda + n)/\Gamma(\lambda)$ , Jacobi's *original* notation:

$$\mathcal{F}_n(\lambda, \mu; z) = {}_2F_1[-n, \lambda + n; \mu; z] \quad (1.2)$$

can be found, among other places, in the early editions of the book by Magnus and Oberhettinger [3]. Making use of an *alternative* notation:

$$\begin{aligned} \Phi_n(\lambda; \mu; z) &= \frac{(\lambda)_n}{n!} {}_2F_1[-n, \lambda + n; \mu; z] \\ &= \frac{(\lambda)_n}{n!} \mathcal{F}_n(\lambda, \mu; z) \\ &= \frac{(\lambda)_n}{(\mu)_n} P_n^{(\mu-1, \lambda-\mu)}(1 - 2z), \end{aligned} \quad (1.3)$$

Saxena and Hussain [1] proved two interesting generating functions for the Jacobi polynomials. In terms of Kampé de Fériet's double hypergeometric function (cf. [4] and [5, p. 150]; see also [6, p. 63]):

$$\begin{aligned} F_{q:s;v}^{p:r;u} \left[ \begin{matrix} \alpha_1, \dots, \alpha_p & a_1, \dots, a_r & c_1, \dots, c_u \\ \beta_1, \dots, \beta_q & b_1, \dots, b_s & d_1, \dots, d_v \end{matrix} ; x, y \right] \\ = \sum_{m,n=0}^{\infty} \frac{\prod_{j=1}^p (\alpha_j)_{m+n} \prod_{j=1}^r (a_j)_m \prod_{j=1}^u (c_j)_n}{\prod_{j=1}^q (\beta_j)_{m+n} \prod_{j=1}^s (b_j)_m \prod_{j=1}^v (d_j)_n} \frac{x^m}{m!} \frac{y^n}{n!}, \end{aligned} \quad (1.4)$$

The present investigation was supported, in part, by the Natural Sciences and Engineering Research Council of Canada under Grant OGP0007353.

Typeset by  $\mathcal{A}\mathcal{M}\mathcal{S}\text{-}\mathcal{T}\mathcal{E}\mathcal{X}$

where, for convergence of the double hypergeometric series,

$$(i) \quad p + r < q + s + 1, \quad p + u < q + v + 1, \quad |x| < \infty, \quad \text{and} \quad |y| < \infty,$$

or

$$(ii) \quad p + r = q + s + 1, \quad p + u = q + v + 1,$$

and

$$\begin{cases} |x|^{1/(p-q)} + |y|^{1/(p-q)} < 1, & \text{if } p > q, \\ \max\{|x|, |y|\} < 1, & \text{if } p \leq q, \end{cases} \quad (1.5)$$

we recall their main results in the following *equivalent* forms:

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{(\lambda)_n (\alpha + \beta + 1)_n}{(\alpha + 1)_n (\alpha + \beta - \lambda + 2)_n} P_n^{(\alpha, \beta)}(x) t^n \\ &= (1-t)^{-\alpha-\beta-1} F_{1:1;0}^{1:2;1} \left[ \begin{matrix} \frac{1}{2}(\alpha + \beta + 1): & \lambda, \frac{1}{2}(\alpha + \beta) + 1; & \frac{1}{2}(\alpha + \beta) - \lambda + 1; \\ \alpha + \beta - \lambda + 2: & \alpha + 1; & \text{---}; \end{matrix} \right. X, Y \left. \right] \end{aligned} \quad (1.6)$$

and

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{(\lambda)_n (\mu)_n (\alpha + \beta + 1)_n}{(\alpha + 1)_n (\alpha + \beta - \lambda + 2)_n (\alpha + \beta - \mu + 2)_n} P_n^{(\alpha, \beta)}(x) t^n \\ &= (1-t)^{-\alpha-\beta-1} F_{2:1;0}^{2:2;1} \left[ \begin{matrix} \frac{1}{2}(\alpha + \beta + 1), \frac{1}{2}(\alpha + \beta) + 1: & \lambda, \mu; & \alpha + \beta - \lambda - \mu + 2; \\ \alpha + \beta - \lambda + 2, \alpha + \beta - \mu + 2: & \alpha + 1; & \text{---}; \end{matrix} \right. X, Y \left. \right], \end{aligned} \quad (1.7)$$

where, and in what follows, we have set

$$X = -\frac{2(1-x)t}{(1-t)^2}, \quad Y = -\frac{4t}{(1-t)^2} \quad (|t| < 1). \quad (1.8)$$

Formula (1.6) is a limiting case of the generating function (1.7) when  $|\mu| \rightarrow \infty$ . Indeed, since (cf., e.g., Erdélyi *et al.* [7, p. 47])

$$\begin{aligned} & \frac{(\mu)_n}{(\alpha + \beta - \mu + 2)_{m+n}} = (-1)^{m+n} \mu^{-m} \{1 + O(\mu^{-1})\} \\ & (|\mu| \rightarrow \infty; |\arg(\mu)| \leq \pi - \epsilon, \quad 0 < \epsilon < \pi; \quad m, n = 0, 1, 2, 3, \dots), \end{aligned} \quad (1.9)$$

the limiting case of (1.7) when  $|\mu| \rightarrow \infty$  yields

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{(\lambda)_n (\alpha + \beta + 1)_n}{(\alpha + 1)_n (\alpha + \beta - \lambda + 2)_n} P_n^{(\alpha, \beta)}(x) (-t)^n \\ &= (1-t)^{-\alpha-\beta-1} F_{1:1;0}^{2:1;0} \left[ \begin{matrix} \frac{1}{2}(\alpha + \beta + 1), \frac{1}{2}(\alpha + \beta) + 1: & \lambda; & \text{---}; \\ \alpha + \beta - \lambda + 2: & \alpha + 1; & \text{---}; \end{matrix} \right. -X, Y \left. \right]. \end{aligned} \quad (1.10)$$

Now apply the definition (1.4) to rewrite this  $F_{1:1;0}^{2:1;0}$  as an infinite series of the Gauss hypergeometric function:

$${}_2F_1 \left[ m + \frac{1}{2}(\alpha + \beta + 1), m + \frac{1}{2}(\alpha + \beta) + 1; m + \alpha + \beta - \lambda + 2; Y \right] \quad (m = 0, 1, 2, \dots),$$

and make use of the Pfaff-Kummer transformation [7, p. 64]:

$${}_2F_1[a, b; c; z] = (1-z)^{-a} {}_2F_1 \left[ a, c-b; c; \frac{z}{z-1} \right] \quad (1.11)$$

to each term of the series. Upon replacing  $t$  on both sides of the resulting equation by  $-t$ , (1.10) thus leads us to the generating function (1.6).

A further limiting case of the generating function (1.6) when  $|\lambda| \rightarrow \infty$  (or, equivalently, of the generating function (1.7) when  $\min\{|\lambda|, |\mu|\} \rightarrow \infty$ ) would similarly yield the well-known result (cf. [8, p. 102, Example 19]; see also [9, p. 256] and [6, p. 112]):

$$\sum_{n=0}^{\infty} \frac{(\alpha + \beta + 1)_n}{(\alpha + 1)_n} P_n^{(\alpha, \beta)}(x) t^n = (1 - t)^{-\alpha - \beta - 1} {}_2F_1 \left[ \frac{1}{2}(\alpha + \beta + 1), \frac{1}{2}(\alpha + \beta) + 1; \alpha + 1; X \right], \quad (1.12)$$

where  $X$  is given by (1.8).

Formula (1.12) follows also when we set

$$\lambda = \frac{1}{2}(\alpha + \beta) + 1$$

in the generating function (1.6) or when we set

$$\lambda = \mu = \frac{1}{2}(\alpha + \beta) + 1$$

in the more general result (1.7). As a matter of fact, the generating function (1.6) can be deduced also as an *obvious* special case of (1.7) by setting

$$\mu = \frac{1}{2}(\alpha + \beta) + 1.$$

In view of such important consequences of the generating function (1.7) as (1.6) and (1.12), we first show how (1.7) can be derived *directly* from some known (and readily available) results in the literature. We also present an interesting further generalization of the generating function (1.7).

## 2. ALTERNATIVE DERIVATION OF THE GENERATING FUNCTION (1.7)

As one of the many special cases of his hypergeometric generating function [10, p. 76, Equation (3.1)], Srivastava [10] derived the following generating function for the Jacobi polynomials (see [10, p. 78] and [6, p. 145]):

$$\sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (\gamma_j)_n}{(\alpha + 1)_n (\beta + 1)_n \prod_{j=1}^q (\delta_j)_n} P_n^{(\alpha, \beta)}(x) t^n = {}_F_{q:1;1}^{p:0;0} \left[ \begin{matrix} \gamma_1, \dots, \gamma_p: & \text{---}; & \text{---}; \\ \delta_1, \dots, \delta_q: & \alpha + 1; & \beta + 1; \end{matrix} \quad \frac{1}{2}(x - 1)t, \quad \frac{1}{2}(x + 1)t \right]. \quad (2.1)$$

Setting

$$\begin{cases} p - 2 = q = 2, \gamma_1 = \lambda, \gamma_2 = \mu, \gamma_3 = \alpha + \beta + 1, \gamma_4 = \beta + 1, \\ \delta_1 = \alpha + \beta - \lambda + 2, \text{ and } \delta_2 = \alpha + \beta - \mu + 2, \end{cases} \quad (2.2)$$

the familiar result (2.1) readily yields

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n (\mu)_n (\alpha + \beta + 1)_n}{(\alpha + 1)_n (\alpha + \beta - \lambda + 2)_n (\alpha + \beta - \mu + 2)_n} P_n^{(\alpha, \beta)}(x) t^n = {}_F_{2:1;1}^{4:0;0} \left[ \begin{matrix} \lambda, \mu, \alpha + \beta + 1, & \beta + 1: & \text{---}; & \text{---}; \\ \alpha + \beta - \lambda + 2, & \alpha + \beta - \mu + 2: & \alpha + 1; & \beta + 1; \end{matrix} \quad \frac{1}{2}(x - 1)t, \quad \frac{1}{2}(x + 1)t \right]. \quad (2.3)$$

The left-hand sides of (1.7) and (2.3) are identical. In order to show that their right-hand sides are also identical, let  $\Omega(t)$  denote the second member of the generating function (2.3). Then it follows from the definition (1.4) and the hypergeometric identity [11, p. 28, Equation 1.3(30)] that

$$\begin{aligned} \Omega(t) &= \sum_{m=0}^{\infty} \frac{(\lambda)_m(\mu)_m(\alpha + \beta + 1)_m(\beta + 1)_m}{(\alpha + \beta - \lambda + 2)_m(\alpha + \beta - \mu + 2)_m(\alpha + 1)_m} \frac{\{\frac{1}{2}(x - 1)t\}^m}{m!} \\ &\times \sum_{n,p=0}^{\infty} \frac{(\lambda + m)_{n+p}(\mu + m)_{n+p}(\alpha + \beta + m + 1)_{n+p}(\beta + m + 1)_{n+p}}{(\alpha + \beta - \lambda + m + 2)_{n+p}(\alpha + \beta - \mu + m + 2)_{n+p}(\beta + 1)_{n+p}} \\ &\times \frac{t^n \{\frac{1}{2}(x - 1)t\}^p}{n! p!}, \end{aligned} \tag{2.4}$$

where we have used the elementary observation that

$$\frac{1}{2}(x + 1)t = t + \frac{1}{2}(x - 1)t.$$

Now replace the summation index  $m$  in (2.4) by  $m - p$  and rearrange the resulting triple sum to the form:

$$\begin{aligned} \Omega(t) &= \sum_{m,n=0}^{\infty} \frac{(\lambda)_{m+n}(\mu)_{m+n}(\alpha + \beta + 1)_{m+n}(\beta + 1)_{m+n}}{(\alpha + \beta - \lambda + 2)_{m+n}(\alpha + \beta - \mu + 2)_{m+n}(\alpha + 1)_m(\beta + 1)_n} \\ &\times {}_2F_1[-m, -\alpha - m; \beta + n + 1; 1] \frac{\{\frac{1}{2}(x - 1)t\}^m}{m!} \frac{t^n}{n!} \\ &= \sum_{m,n=0}^{\infty} \frac{(\lambda)_{m+n}(\mu)_{m+n}(\alpha + \beta + 1)_{2m+n}}{(\alpha + \beta - \lambda + 2)_{m+n}(\alpha + \beta - \mu + 2)_{m+n}(\alpha + 1)_m} \frac{\{\frac{1}{2}(x - 1)t\}^m}{m!} \frac{t^n}{n!} \\ &= \sum_{m=0}^{\infty} \frac{(\lambda)_m(\mu)_m(\alpha + \beta + 1)_{2m}}{(\alpha + \beta - \lambda + 2)_m(\alpha + \beta - \mu + 2)_m(\alpha + 1)_m} \frac{\{\frac{1}{2}(x - 1)t\}^m}{m!} \\ &\times {}_3F_2 \left[ \begin{matrix} \alpha + \beta + 2m + 1, & \lambda + m, & \mu + m; \\ \alpha + \beta - \lambda + m + 2, & \alpha + \beta - \mu + m + 2; \end{matrix} \right. \left. t \right], \end{aligned} \tag{2.5}$$

where we have applied the Chu-Vandermonde theorem [8, p. 3] to sum the terminating Gauss hypergeometric series with argument 1.

Finally, by appealing to Whipple's transformation [8, p. 97, Example 4 (iv)]:

$$\begin{aligned} {}_3F_2 \left[ \begin{matrix} a, & b, & c; \\ a - b + 1, & a - c + 1; \end{matrix} \right. z \left. \right] \\ = (1 - z)^{-a} {}_3F_2 \left[ \begin{matrix} \frac{1}{2}a, & \frac{1}{2}(a + 1), & a - b - c + 1; \\ a - b + 1, & a - c + 1; \end{matrix} \right. -\frac{4z}{(1-z)^2} \left. \right] \quad (|z| < 1), \end{aligned} \tag{2.6}$$

and interpreting the resulting double series by means of the definition (1.4), (2.5) leads us precisely to the second member of the generating function (1.7). This evidently completes our alternative derivation of the generating function (1.7) as a further special case of the familiar result (2.1).

### 3. FURTHER GENERALIZATIONS AND BASIC (OR $q$ -) EXTENSIONS

Some interesting unifications (and generalizations) of several generating functions for hypergeometric polynomials (due, for example, to Chaundy [12], Burchnell [13], and Rainville [14]) were

considered by Srivastava [15] who also gave the basic (or  $q$ -) extensions of his general results. Of our interest here is a very special case of one of Srivastava's results [15] which have since been reproduced systematically by Srivastava and Manocha [6, p. 142 *et seq.*]. By further particularizing this special case (*cf.* [15, p. 329, Equation (1.9)] and [6, p. 142, Equation 2.6(21)]) suitably, we obtain (see also [6, p. 177, Problem 32])

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{\prod_{j=1}^r (c_j)_n}{\prod_{j=1}^s (d_j)_n} {}_{p+2}F_q \left[ \begin{matrix} -n, \omega+n, a_1, \dots, a_p; \\ b_1, \dots, b_q; \end{matrix} z \right] \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \frac{(\omega+n)_n \prod_{j=1}^p (a_j)_n \prod_{j=1}^r (c_j)_n (-zt)^n}{\prod_{j=1}^q (b_j)_n \prod_{j=1}^s (d_j)_n n!} \\ & \times {}_{r+1}F_{s+1} \left[ \begin{matrix} \omega+2n, c_1+n, \dots, c_r+n; \\ \omega+n, d_1+n, \dots, d_s+n; \end{matrix} t \right] \\ & (r \leq s, |t| < \infty; r = s+1, |t| < 1), \end{aligned} \tag{3.1}$$

which may be looked upon as a generalization of the generating function (2.1).

Upon setting

$$\begin{cases} r-1 = s = 2, c_1 = \lambda, c_2 = \mu, c_3 = \omega, \\ d_1 = \omega - \lambda + 1, d_2 = \omega - \mu + 1, \end{cases} \tag{3.2}$$

and applying Whipple's transformation (2.6) to the resulting hypergeometric  ${}_3F_2$  function on the right-hand side of (3.1), we arrive finally at the generating function:

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{(\lambda)_n (\mu)_n (\omega)_n}{(\omega - \lambda + 1)_n (\omega - \mu + 1)_n} {}_{p+2}F_q \left[ \begin{matrix} -n, \omega+n, a_1, \dots, a_p; \\ b_1, \dots, b_q; \end{matrix} z \right] \frac{t^n}{n!} \\ &= (1-t)^{-\omega} F_{2:2:p+2;1}^{2:q;0} \left[ \begin{matrix} \frac{1}{2}\omega, \frac{1}{2}(\omega+1): \lambda, \mu, a_1, \dots, a_p; \\ \omega - \lambda + 1, \omega - \mu + 1: b_1, \dots, b_q; \\ \omega - \lambda - \mu + 1; \\ \frac{4zt}{(1-t)^2}, \frac{4t}{(1-t)^2} \end{matrix} \right] (|t| < 1). \end{aligned} \tag{3.3}$$

In view of the definition (1.1), this last result (3.3) would readily yield the generating function (1.7) in the special case when

$$p = q - 1 = 0, b_1 = \alpha + 1, \omega = \alpha + \beta + 1, \text{ and } z = \frac{1}{2}(1-x).$$

REFERENCES

1. R.K. Saxena and Z. Hussain, Generating functions for Jacobi polynomials, *Univ. Nac. Tucumán Rev. Ser. A* **26**, 45-48 (1976).
2. G. Szegő, *Orthogonal Polynomials*, Fourth Edition, Amer. Math. Soc. Colloq. Publ., Vol. 23, Amer. Math. Soc., Providence, Rhode Island, (1975).
3. W. Magnus and F. Oberhettinger, *Formeln und Lehrsätze für die Speziellen Funktionen der Mathematischen Physik*, Springer-Verlag, Berlin, Göttingen and Heidelberg, (1948).
4. J. Kampé de Fériet, Les fonctions hypergéométriques d'ordre supérieur à deux variables, *C.R. Acad. Sci Paris* **173**, 401-404 (1921).
5. P. Appell and J. Kampé de Fériet, *Fonctions Hypergéométriques et Hypersphériques; Polynômes d'Hermite*, Gauthier-Villars, Paris, (1926).
6. H.M. Srivastava and H.L. Manocha, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, (1984).

7. A. Erdélyi, W. Magnus, F. Oberhettinger and F.G. Tricomi, *Higher Transcendental Functions*, Vol. I, McGraw-Hill Book Company, New York, Toronto and London, (1953).
8. W.N. Bailey, *Generalized Hypergeometric Series*, Cambridge Tracts in Mathematics and Mathematical Physics, No. 32, Cambridge University Press, Cambridge, London and New York, (1935). Reprinted by Stechert-Hafner Service Agency, New York and London, (1964).
9. E.D. Rainville, *Special Functions*, Macmillan Company, New York, (1960). Reprinted by Chelsea Publishing Company, Bronx, New York, (1971).
10. H.M. Srivastava, Certain formulas associated with generalized Rice polynomials. II, *Ann. Polon. Math.* **27**, 73–83 (1972).
11. H.M. Srivastava and P.W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, (1985).
12. T.W. Chaundy, An extension of hypergeometric functions (I), *Quart. J. Math. Oxford Ser.* **14**, 55–78 (1943).
13. J.L. Burchinal, The Bessel polynomials, *Canad. J. Math* **3**, 62–68 (1951).
14. E.D. Rainville, Generating functions for Bessel and related polynomials, *Canad. J. Math* **5**, 104–106 (1953).
15. H.M. Srivastava, A family of  $q$ -generating functions, *Bull. Inst. Math. Acad. Sinica* **12**, 327–336 (1984).